
 1 

 
 

Item # | Product Name:   #300081 Folding Dock Ladder 
 

Parts List: Tools Needed: 

1.  Polyethylene Ladder Top 1 Silicone Spray (optional) 

2.  Polyethylene Ladder Bottom 2. Ratchet 

3.  Polyethylene Channel Insert 3. 9/16” Socket 

4. 3/8 x 2” Bolts (5) 4. Mallet 

5. 3/8 x 1 ¼” Bolts (2) 5. 

6.  Washers (8) 6. 

7. 3/8” x 3 ¾” Bolt (1) 7. 

 
Assembly Instructions: 

 

Installing #300081 Folding Ladder on Wave Dock 

 

 
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

Parts Shown:  #1, #2, #3 Completed Installation 

Shown. 



 2 

 

 

1. Slide the plastic channel insert into the channel on the dock.  Be sure that the threaded insert on the edge 

is facing upward.  Slide the plastic insert down the channel until the threaded insert lines up with a hole 

in the top deck.  Spray on silicone to make it slide easier if necessary. 

 

 
 

 

2. Attach the Ladder top to the channel insert by lining up the five holes in the ladder face and the one hole 

in the top, with the brass threaded inserts in the channel insert.  Loosely thread the bolts in until all of 

them are lined up.  Use the 3/8 x 2” bolts and washers on the face and the 3/8 x 3 ¾” bolt and washer on 

the top.  Tighten securely. 

 

 

 
 

 

 

 

 

 

 

 

 

 

 

Threaded 

insert 

Top deck thru-hole 

Ladder top lined up with the 

plastic insert 

Bolts and washers attached 

at the ladder face. 

Top hole 



 3 

 

 

 

3.  Attach the ladder bottom to the ladder top by lining up the two top holes on the sides of the ladder bottom 

with the threaded inserts in the side of the ladder top.  Use the two 3/8 x 1 ¼” bolts and washers to attach the 

ladder bottom to the ladder top and tighten securely.  The ladder is now complete and can be pivoted all the way 

over onto the dock. 

 

 
 

 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 
 
 
 
 

Threaded insert in 

ladder top. 

Thru-hole in 

ladder bottom 


